Efficiency vs Dxy(PV)

S 0.8
3
> 0.
kel
[
2o
>
o
c
30
L
=
o o,
R PR POV PO FOVEN PR POV PPN PP
8 e
x a

0 E=30-15-10 5 0 5 10 15 20 25

TP dxy(PV) (cm)
—=— DQM_V0001_R000000001__Global__CKF__RECO
—=— DQM_V0001_R000000001__Global__mkFitl_ RECO

[Efficienc| —— DQM_v0001_R000000001__Global__mkFit2_ RECO
=
o
4
x
o
1’d
>
>
o
=
Q
=)
g
2 o
T Lo
o :

095106060402 0

Efficiency vs Dz(PV)

efficiency vs dz(PV)

02040608 1
TP dxy(PV) (cm)

0.8
0.7

0.6f-------- -------------------
Y REETET EERRS LEPRRR PRPRN SRRPS
0.4 :

03

P JOR ROV D DO P
NS
Ao 102030

Efficiency vs Dz(PV)

efficiency vs dz(PV)

Ratio

1.

TP dz(PV) (cm)

i

o.8f
0.6: .
0.4
SRR S A1
«of i i '




	Contents
	Page 1


